CHM 152 Quiz #4 25 Pts Fall 2004 Name: Rej

Show all work to receive credit.

1. (10 Pts) 38.0 mL of 0.50 M KOH were combined with 44.7 mL of 0.35 M H;PO,. Determine the moles of the

excess reactant remaining and its new concentration. o - D
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2. (6 Pts) Complete and balance each of the following:

NaOH + HCIO, > Hy OfyF Ve &07 (¢4)
HCHCO, +  HPO, >  Errer (/BoJrL whe &,ubaf

Na,CO; + ] HBr ')QNCLEFGZ) ¥ H& o, —> J NaRw+ H0@) + CO,\@

4. (3 Pts) What volume of 10.0 M HNO:; is required to prepare 900 mL of 3.0 M HNO; solution?
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5. (6 Pts) In the following reactions identify the acid, base, conjugate acid, and the conjugate base.

a. HC1 + HO »> H;0" + Ccr
Ogid , Bese Cn\) Aul Co»q Rase
b. NH; + HO0 = NH, + OH
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